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Problem #1: Cylinder nets
You will need an 8.5-inch-by-11-inch piece of paper and tape.

1. Roll the paper and tape it along its long edge to make a cylinder.

2. What is the lateral surface area of this cylinder?

3. What is the surface area of this cylinder, including the bases? Find the radius of the base
using an algebraic method, NOT by measuring.

Problem #2: Cone nets

You will need a piece of paper, a compass, a ruler, scissors, and tape.

1. Use the compass to make a circle with a 3-inch radius on your paper. Measure a 120° central

angle in your circle, and cut this part of the circle out. Cut out the remaining part of the circle and
R

join the two cut radii with tape to make a cone. 2uc°

2. What is the lateral surface area of this cone?

A= (203 - Cn e

3. What is the surface area of the cone, including the base? You may estimate the radius of the base
by measuring with a ruler.

Radivs of base 1< cue?(ox. L indnes .,

SA = LA+ B = 1985 + T(2)*= M
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Problem #3: Volume Problem Solving
1. How many plastic 2Zcmx2cmx2cm cubes can be neatly stacked in an 8cmx10cmx12cm box?
Explain.
Volume oF box = @x10X1Z = Ge0em” qw )
g = U 20 cubes |

Volume of cwhe = 2x2x2s Tcm?

2. How many plastic 2cmx2cmx2cm cubes can be neatly stacked in an 8cmx9cmx12cm box?
Explain. Me¥aod from #1 wons work since Hae will e empty space in
Y1ie box. ¥
Box: RXem x 9em x 12 cm
wil ft:  Sevbes x 4 cvbes * b whes = UxYxb =\<-‘16 cubes

3. A BerryBombs cereal box is 10 inches tall, 7% inches wide, and 2% inches deep. Give the
length, width, and height of a cardboard box that could hold exactly 12 BerryBombs cereal

boxes, leaving no extra space. B Bl baws
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Mf)\‘t' ‘\ ot width = 6x2.§ = 15 }n |
he\'ght= k(o =10 |
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Problem #4: More Volume Problem Solving
1. A 9-inch-by-9-inch-by-12-inch jar in the shape of a rectangular prism is completely filled
with gum balls of diameter % inches. Estimate the number of gum balls in the jar, and

explain your reasoning. Y vadivg Ygin
Volume of jor= AxqAxi2= Q12 i’ Q72 _ 4418 .2 or

Vol ot qumball= 4T(3= 0.22 i o 4% gumballs

meter 6 inches is rodiviz 3in

2. Ajarin the shape of a 9-inch-tall cylinder with a circular base of dia
completely filled with gum balls of diameter % inches. Estimate the number of gum balls in

the jar, and explain your reasoning. 25.4 c
Volome of jor = Bh=Treh="T(3)(3) = [254.5 ;r?l =g - IseT

« 0.7 Z-
Vol o gumbal 5 [T1SE qumbalis]

3. Do you think your estimates in 1 & 2 are overestimates or underestimates? Explain your

reasoning.

OvecesTimate = The \_\'w will hove af ?odceh; not {'E\lﬂo( otth %4mba\\s
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Problem #5: Even More Volume Problem Solving

Find the volume of the following solids:

2in
= 3 (2)(Q)= 21"



